Ch.2

Problem #3

A. 600 x 1,048,576= 5,033,164,800bits per CD = 5Gb
B. 8x54x60=25,920bits x 1,000 pages = 25,920,000 bits

     8x1024x768=6,291,456bis x 100 pics = 629,145,600bits

     6x16,000x60x30=172,800,000bits 
25,920,000bits+629,145,600bits+172,800,000bits=827,865,600bits


4,800,000,000/827,865,600=5.798 or 6 volumes.

C. 827,865,600/1,544,000=536.18 sec or 8.93min.
D. 28.1/3=9.4Mb

     629145600/10=62,914,560bits

     172,800,000/2=86,400,000bits

     9.4+62,914,560+86,400,000=158.7Mb        4,800,000,000/157,954,560=32 volumes
    157,954,560/1,544,000=103.30sec or 1.7min 


